—_—

C31707 Gy NemeamGSdon

/’.\% i S
J‘“ 1E J(é) \CA
.“V.,.G:.T. S3gedestliiecees
D

ENGIREE iﬁf’a\'
MR by

EN. 04 107 A—ENGINEERING MECHANICS =
(2004 admssmns) . A Q'.‘.Jf.‘:: j“/
[Common for CE, AI, CH CE, CS EE, EC, IT, IC BM BT, PT] ,
Time : Three Hours ) _ ' Maximum : 100 Marks
I. (a) What is Free Body 'd_ia.gra_mt? Explain.
* (b) State and explain Varignan’s theorem.
(c) State ‘Laws of friction’. :
(d) What is product of Inertia ? .
(e) Define Perfect, Deficient and Reduntent trusses :
. (f) What are the dlﬂ'erent types of supports and what i is the form of 1ts reactlon =
(g) State and explain D’Alembert’s principle.
(h) Prove work Energy equation. e
| R  @x5= 40marks)
II. (e) Find the value of minimum force i so0 that the body C overcomes obstacle,

(b)

Or

A smooth sphere, radius 15 cm. weighs 2N is supported in contact with smooth vertical wall
by a string whose length equals the radius of sphere. The string joins with one end on the
wall and other on surface of sphere. Find the 1nclmat10n of wall and also the tension on

string. ‘
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III. (a) ‘Two blocks A and B welghmg 4 kN and 2 kN respectlvely arein equlhbrlum Let coefﬁclent of
_friction be. 25 . Find the force requu‘ed to move the block : .
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(b) For the given F‘igure"ﬁnd the moment of inertia -about ‘c'entroid'al axis.
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IV. (a) Find the support reactlon for the gwen figure.
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(b) Find the Magnitude and Nature of forces in all the members of given trusses.
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V. (a A pro_)ectlle is sent from point A ata velocxty W, Fmd least veloctty 50 that it passes through
B and C coérdinates of A B and C are (0, 0), 4.8, 3 6) (84 0) respectlvely
: : Oor

(b) A body of 10 kg mass moving rigbt with a speed of 8 m/s stnkes thh another body of 20 kg
- mass. movmg towards leﬂ; w1th 25 m/s. _

Find : A
6) 'Final velocity_ of two bodies.
- (ii) -Loss in kinetic energy due to i_nipact.‘

(4 x 15 = 60 marks)



